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QUESTION 1
When the two MCU do cascade, how many the bandwidth of the venue it will take at least?

A. 1

B. 2

C. 3

D. 4

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
What are belong to video code protocols? (Select 3 answers)

A. H.261

B. H.263

C. H.264

D. H.281

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 3
Access control belongs to the functions of GK

A. True

B. False

Correct Answer: A
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 4
El comparative advantages of IP(Select 3 answers)

A. Bandwidth stable

B. QOS guaranteed

C. Data confidentiality, better security

D. low cost, line can be shared

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 5
Operational support layer may include? (Select 2 answers)

A. Operators billing system

B. MCU

C. GK

D. Multi Resource Management Center

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 6
Which of the following is supported by the main control board switchover?
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A. GCCA

B. GCCB

C. GCCC

D. GCCD

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 7
What Signaling are there in terminal registration G}? (Select 3 answers)

A. RRQ

B. RCF

C. RAC

D. RRJ

Correct Answer: ABD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 8
In video products in the network diagram, which layer is Switch Manager located in ? ()

A. User Access Layer

B. Media exchange layer

C. Network control layer

D. Operational support layer

Correct Answer: D
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 9
Which of the following HD camera mode to configure whether to allow the camera to forward infrared signals to the terminal?()

A. IR

B. VIDEO

C. FLIP

D. MCU

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 10
SMC2.0 add a non-Huawei device, select "Other devices"

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 11
How many MCU resources maximumly does Multi-resource management center can manage?

A. 128

B. 256

C. 64

D. 512

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online

https://vceplus.com/
https://vceplus.com/
https://vceplus.com/


Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 12
The function of Switch Centre is ()

A. External ports provide third-party telephone numbers

B. provide address resolution, access control, bandwidth management and regional management functions

C. monitoring node registration and call status

D. Collaborative Resource Manager to achieve special code calls and site call function

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 13
Huawei Intelligence and Cisco Telepresence can be interoperated.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 14
What is the range that the human ear can recognize the sound frequency?

A. 10-10K
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B. 20~20K

C. 3O-3OK

D. 40~40K

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 15
225 protocol can be used for conference control

A. True

B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 16
IP relative to E1, stable bandwidth, QOS and security, data confidentiality, better security.

A. True

B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 17
AAC-LD () kHz sampling support dual-channel high-fidelity CD quality
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A. 7

B. 16

C. 43

D. 64

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 18
One MCU can establish a connection with( )a RM interface at the same time.

A. 1

B. 2

C. 3

D. 4

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 19
HD terminal HD is not the time to join the default output OUT1 ? ()

A. the mainstream of home terminal

B. the presentation of home terminal

C. the remote mainstream

D. the remote presentation

Correct Answer: A
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 20
Which of the following several types are included in H323 node? (choose 3 answers)

A. terminal

B. MCU

C. the gateway

D. the routing

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 21
What are RP multifunctional intelligence installation modes? () (select 3 answers)

A. Ceiling mode

B. Fixed Mode

C. Move mode

D. on the wall mode

Correct Answer: BCD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 22
After the conference, if the conference is still in a work from P will state the venue, the venue can call a specific number of independent events join the conference,
the particular number is ()

A. Streaming service special code
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B. Conference special code

C. PSTN special code

D. Chairman of the special code

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 23
"4CIF" Image resolution is 744X 576.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 24
What can select the input when call pear?

A. the opposite end IP address

B. the opposite end model

C. the opposite Physical location

D. the opposite end password

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 25
After a call to establish media connection, transmit two-way media streams between two H.239 terminals, they do not share the call bandwidth.

A. True

B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 26
7Z0P image effect equal to ()

A. 4CIF

B. 8CIF

C. 9CIF

D. 12CIF

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 27
HD camera can be turned on or off the image upside down functionality through VIDEO settings.

A. True

B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 28
SMC2.0 is mainly made up by (). (select 3 answers)

A. Webserver

B. Background service

C. Database

D. Terminal

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 29
What are the following responsible for system streaming video and audio signal processing?

A. HDPA

B. POEA

C. GWBA

D. VOBA

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 30
Can not be extended after the appointment conference

A. True

B. False

Correct Answer: B

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online

https://vceplus.com/
https://vceplus.com/
https://vceplus.com/


Section: (none)
Explanation

Explanation/Reference:

QUESTION 31
Which mode is used to configure the following open or close the image upside down function of HD camera? ()

A. IR

B. VIDEO

C. FLIP

D. MCU

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 32
By default, GE1 network interface works in what mode?

A. Backup mode

B. Capture mode

C. Dynamic switching

D. Fence model

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 33
Broadcast television is one-way communication, can not communicate with each other, and two-way video conferencing can spread, "face to face" communication.
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A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 34
MCU main control board GCCX primarily responsible for video, audio, signaling and other information exchange process, and execute control commands business
management center.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 35
MCU can not register to SwitchCentre or Resource Manager case may be? (select 3 answers)

A. Failure terminal

B. network failure

C. Registration parameters are inconsistent

D. segment limit

Correct Answer: BCD
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 36
Network packet loss is high, Multi Resource Management Center will alarm.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 37
MCU8650C height ()U.

A. 1

B. 2

C. 3

D. 4

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 38
Responsible for planning the following access E C} number is?

A. HDPA

B. POEA

C. GWBA

D. VOBA

Correct Answer: C
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 39
Conference access number is made up of () and (). (Select 2 answers)

A. Sub-conference number

B. MCU Code

C. Conference special code

D. Cascade special code

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:

QUESTION 40
Which of the following can be included in business features of multipoint resource management center? (Choose 3 answers)

A. centralized management of resources

B. address resolution

C. the venue centralized management

D. conference control

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 41
I frame is a complete picture, and P-frames and B-frames is recorded with respect to change in I frames.

A. True

B. False
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 42
Which layer does the HD terminal video communications system located in?

A. operational support layer

B. Network control layer

C. Media exchange layer

D. User Access Layer

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 43
Large capacity multipoint generally cross-regional, level larger conferences, generally require multiple cascaded MCU to ensure adequate capacity, the meeting
was more superior to the lower convey style.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 44
How many process does the IP address call mainly includes? (select 2 answers)
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A. RPQ

B. setup

C. RCF

D. connected

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 45
Multifunction Telepresence main scenario()

A. Ordinary Meeting conference

B. Senior Management Office

C. Professional conference rooms

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 46
Which of the following types of equipment are high terminal accessories() (Select 3 answers)

A. array microphone

B. HD camera

C. Remote control

D. Switch

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 47
H.323 gateway is between the circuit switched network and a packet switched network.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 48
HD Codec of the intelligence conference room supports 3-way high-definition video input and output.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 49
Which of the following is a configuration option HD Camcorder() (Select 3 answers)

A. IR

B. VIDEO

C. FLIP

D. MCU

Correct Answer: ABC
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 50
The following application modes, which video conferencing demanding interactive?

A. peer to peer mode

B. small capacity multipoint

C. large capacity multipoint

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 51
Veneer refers GPUA (general purpose processing unit board).

A. True

B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 52
The main control board GCCX is core processing unit of the system, responsible for video, audio, information exchange process, and execution control command
operations management center.

A. True

B. False

Correct Answer: A
Section: (none)
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Explanation

Explanation/Reference:

QUESTION 53
GK according to the called number parsing GK regional node is called node belong to the neighbours, GK support GK request parsing was called number to
neighbor

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 54
Service Area( indicates the area under the jurisdiction of the scope of this service area.

A. Code

B. prefix

C. under the jurisdiction of the MCU

D. Number of venue

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 55
The following protocol encryption protocol is ()

A. H.225

B. H 245
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C. H.235

D. H.283

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 56
User access layer is composed of various types ().

A. MCU

B. GK

C. GW

D. Terminal

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 57
LRQ is the node positioning request

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 58
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An MCU can belong to up to () service area

A. 1

B. 2

C. 3

D. 4

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 59
.According to the different function modes of intellectual can divide (select 2 answers)

A. Immersive intelligence

B. multi-screen intelligence

C. multifunction intelligence

D. Single-screen intelligence

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 60
The resolution of 10801 is interlaced scanning of 1920*1080.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 61
50/60 fields are a middle way of relatively low transmission load, which give consideration to 60 frames smooth and 30 frames.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 62
H.323 standard belongs to () network

A. optical switching

B. packet switching

C. link exchange

D. circuit switching

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 63
When two MCU cascade, scheduling a meeting, besides, superior and subordinate MCU as a virtual venue respectively join the conference.

A. True

B. False

Correct Answer: A
Section: (none)
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Explanation

Explanation/Reference:

QUESTION 64
Business management system is used for centralized management of video resources, responsible for reservation and scheduling of meetings, including network
control center, conference reservation system ().

A. the billing system

B. Multi-Resource Management Center

C. GK

D. all of the above

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 65
Which of the following is the highest video format supported currently by Video conference system?

A. 4CIF

B. 720P

C. 1080P

D. 2016P

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 66
Which of the following is the networking format of intelligence video network? (please choose 3 answers)
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A. IP

B. E1

C. 4E1

D. ADSL

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 67
IP addresses call directly which don't need GK.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 68
Which organization is it that set the standard H.323?

A. ITU_T

B. IEEE

C. NSI

D. ISO

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 69
Currently, what are the main types of MCU? (Please choose 3 answers)

A. MCU8650

B. MCU8650C

C. MCU8660

D. portable MCU

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 70
What is the resolution of 1080P?

A. 1080*720 progressive scanning

B. 1080*720 interlaced scanning

C. 1920*1080 progressive scanning

D. 1920*1080 interlaced scanning

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 71
Which of the following is the main control board of MCU8660?

A. GCCX

B. GCCA

C. GCCB

D. GCCC
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 72
All MCU support built-in WEB devices meeting management/built-in GK.

A. True

B. False

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 73
Huawei video equipment can achieve stable level of telecom equipment, 7*24 hours of uninterrupted operation.

A. True

B. False

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 74
By default, GE1 net port work in backup mode.

A. True

B. False

Correct Answer: A
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